Ldﬂnm% 112 - 2den amen \'-l/(g- 200G

T Fay= 8T +u-toj 4 %t3/€ , t € lo, 7

Y Fler= 2

¢t T =7 21 ke
=igy= 2T +Htk

) 1) r J -E —
ryxrt) =0 o 2% =S4t T-4t'] +2k
s, o Ht

D

L D N N
7 LLC) = S|FL‘L)|¢M = S\j"i’r‘ +4 ¢4 0“’{\) R '2-(:0\.:{-
@] 0] o

. 72 24
- L?,U*’C) = T Ay -1]

st x4
hlxl |z):‘ -l _—
Y Z T @Vh
Z\ _ = _

?umkx—';‘th_ (('0,‘2/5) ATy~ tb‘l t =i

7l = -QT -I-g—iz :
v den rdmmcy\clf/riuwt bhe

SRS

9

—

25

Sider 1T =Vq'=3

) = =L

25

)



2

%

-{(,X"J]: X?’—xb 'I“oz
Sékar AtOs[om e rwznifzi' - '?,x"._l,) S B

= 2Y =X =0

o
glr- Ji

Y la,,tz«'): \{(Xuo)':- Xg,o.‘:xél R ﬂh&rﬂs{'
boktnde  h) = {(L0)=] | h(0)= J(0,0)=0

& hoWy) = {(O.VD) = ‘-j‘Z 0 yel | Ly /}}-w,n«fl Uoterentde
halor= 0, hat) = o, =1,

@M Cba,n.nn\-w o e .,Jbﬂ MQJ —Lk’—/)"‘d'—“’v
paakd pe bnprtgched  fn T (041)

P rP,,L(!.(.a‘). Has Lywkee, Locjmn%,e/) mader ol

Slker e

Xy = N

A= = A
D v °a*"’ Bx"-u9=mg-x J—uﬂﬂ XQ*% :3
Siden X4 =[] f—.,rwu-r vt X'l—f -;::I-x
M K+ Yx oo, alk o x= ~2BVET

% : 3

B ore tl-"-—ﬁ»*—:,r\.dt - ale . ke x>0 o, W20,
@ Viz'-2 _ 5z’
V\ ‘—O/Y X = _5 b) 'j—- 3
V\ i'\.rwu- -ﬁ-(,xu")) - 4 Of’Q /JLJL O.)f

- E—

‘{rmax'-'t B 4%"!—{2



2L —
V%: 2}(1— —g-L-iu)T&-QZE

Vg (2,13) = HT +4] +6k

L ( x-2) + 4 (y-1) G CZ=%) =0

Skol ha Vg = t (T4T * k)
by ww T FO . Alisa

2x T 44y Y 42z = tT+t] ¥tk
4 = £
w% K:%J%:T; D 2'-2.

Lot 1 Hoi&l.&\rcww oaj.m ;

Z
L, a2 t" t* —
gt iyt g =P
: | t:iztf:'f,?,//z

s ablia purlin

Pf(ﬁ) , Ie) o FPQ,"(_VEJ“T >/6)

g PS



T
F:l—- 62 ;D(:@:H-}:i

\w

o £
hat
| 2, 24
o A- L \(-0de =5 \UI-26%¢"de
1 )
|r1

4 :
5 | o
O

3.65)_. T _1 m3 . @m5% _1
9“'%)-’3 3(,:-/+5 1024

[\

AN

s =
(br) | = j \}(l-—tﬂ‘)2 v 2o do = S\Jn +26%+ 6" b
O
O

T l
o i
= Jegte = | (6+307)= T+ F <7

-0° .
gGmnM L .{:ML}):W . W kel ha
=0 5wl 82+ 2FE-I=0
=26
nom g H=-I3 3, e, 6= 2703

clew oger_—g. Dermed 2o P ()fo'to.m;tJ

do = |= O%.

4
J — 2
I + x2 w= 0
ea X‘Zn-kl

tom K) = 2 Y any



4. forbs
e,

S
20+

B co
V\.\ "LM —tcb‘n ‘Y o5 z (_I)n-
X o

Fu-r O <\xle| GW e f—n— x=0 , hw
vt adler 1t euen” 1 2 e h"':"x“'-_—%;h..(_l"z

A X o X \1—&)2.'
FU‘VX:O

2
Ved  leddwn,  tnkieresjon

N/

Zt&m"'ur) = gy A

g ——dx = '%_ (=) YTy y 0&Z2<€1
New 22— 1 ovtb vervheonder g ot
| Jw,ﬂ’xdL o, PWTOVCMJ«M . Z - 3th+)z

Sotte g = EO: Ll)”(,zh_k” , [ xi<l
— " L\)—I)ZPL o ‘tm"‘(\)’?)
i b s ?o T V<




Y b N

2n)
vl A
Lo hipd= 2 n) b
\ 20 21 J ____LL | - l 3
h ) = g < | — 42 2N —¢ I+
on hiF) = ‘iu\-l'—’—:—-t_'-__ Tt g
=

s b A lad g |+ V=x
%U&)'i‘)-lhﬂi‘l-;l I{_'—QWL"\I—W
b -1 < X< o.

5QJ For ol € 70 , hno S$>0 rih ad
haur X, 66T oy |X-Gl<§ , N4
L l {5[511— @Q‘LJ R < E

[D e ©>0. Vale & 'E;: . Hw

Xq){léﬁ ) X,=C‘l ))('2'1'&.‘1'1'1 0'}(’(1'1<é)
Na v
o <Yy - ) = 5u-%)= Sh < 58=¢

) Gt €20 V.edg § o M:c al
-6l <8 = Ihwi—htail< gz Vo 27

| bty = heeor | = | i)+ hte ) (i) - heeey |

< 2M \huo-mz)\ £ I2M ,-)%\: £

A&. E.D.



